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1.Which of the following is a subcomponent of a virtual machine? 
A. Virtual switch 
B. Virtual HBA 
C. Virtual shield 
D. Virtual OS 
Answer: B 
 
2.A technician wants to configure a server for storage redundancy so that if any two of the four drives fail, 
the server is still operational. 
Which of the following should the technician configure? 
A. RAID 0 
B. RAID 1 
C. RAID 5 
D. RAID 6 
Answer: D 
 
3.An administrator is creating a new VM template and has a requirement that the OS must be hardened. 
Which of the following should be performed to harden a guest OS? 
A. Encrypt the hard drive 
B. Run defrag 
C. Rename administrator account 
D. Change page file 
Answer: C 
 
4.Which of the following factors yields cost savings in cloud computing? (Select TWO). 
A. Shared resources 
B. Availability 
C. Ubiquitous access 
D. Multi-tenancy 
E. On premises 
Answer: A,D 
 
5.A company has decided to reduce their datacenter size. An administrator for the company has been 
tasked to virtualize many of the company’s servers. 
Which of the following should the administrator perform to accomplish this goal? 
A. P2V 
B. P2P 
C. V2P 
D. V2V 
Answer: A 
 
 


